= A 4
AEERREE ()
i & H 2022 4 9 A 18 H H BEHR =~ X3/B7AwvY
A SR 15 B 0% x {{Y)
HEKRTH 17 B 7 9 & i MK#44%—74— VN EXPO g2 £ 100 A
F— L% 1Q 2Q 3Q 4Q oT TOTAL i iE
[LEHR—IX(H) ] 20 0 23 50
1 B 1 8 yi)
95 TR7—X(B) 0 0 0 0 0
0 [ 2 B8 vl
Point After Touchdown
YN Q 2 BEE RS BAaALEILA BELEZEFS E/Y—K TLARE BALIERFS  HY &K
1 H 1 5:06 PASS #18 EA# —H 14 K HoHHE O
2 H 2 1:49 PASS #3 lLO—#10 &£18 55 K #9 JEFH G
3 H 2 5:08 RUSH #39 2N 15 K #9 JEH G
4 H 2 8:56 RUSH #20 &1L 44 K #9 B H NG
5 H 4 0:35 PASS #3 1L O—#9 SH{FH 68 K #9 ;B3 G
6 H 4 500 RUSH #39 12N 9 K #9 B FH G
7 H 4 8:12 FG #9 SEFH 28
8 H 4 10:00 PASS #18 EA—-#17 K 4 K R P G NG
9 K R P G NG
0 K R P G NG
» K R P G NG
19 K R P G NG
i3 K R P G NG
" K R P G NG
5 K R P G NG
- K R P G NG
B  Rsuh=5I2&BTD. Pass=/SRIZ&BTD. INT=A 42—t TREA—2L1=TD. PR=/SU k- 1JA—2IZ&BTD. KOR=F 954 T 1JA—2I2&BTD
2 FUM=D7 T LORERERIFIFI—2ITEDTD, FG=J4— LR -T—ILD LI, SAF=t—T7 7«
F—L4 LER—OX H5IR7—X
&t 18 3
S5 — R — KA 11 — 7 — 2 — 1 — 0
J7—ARI Y
3 down TOEH 3 / 8 2 J/ 12
4 down TODEH 0 S 1 0 yd 2
_ w , N O) A ) A
S [B] %4 — E/YVY—F 19 — 253 21 — 35
Yds Yds
. i @ ® @ @ ® @
A& — BT —  INT 31 — 12 — 1 25 — 12 — 2
INA 5 3
> Th 32 E1B R
R IhER EH/YVY—F 38.7 % 253 48 % 42
BY * — & 78 —K —_ —_
W [B] %4 EH/YVY—F 50 506 vds 46 77 Vas
by =4 | ( ETHF 10 2 ) 18:53 21:07
* - = — K — _
/ & Bl k= BExYv—k 4 25 Yds 4 40 Yds
: 72T [B]24 — ELE S 1 — 1 2 — 0
1 J4—I)LFT—)L [B]24 — Bzh 1 — 1 0 — 0
xE




